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REM This program will compute factors ka through kd.
REM AAA A AR AR A R AR AN AR RN RRR AN A RRANNNARANNNRRR AN AN
SCREEN 0,0,0:COLOR 14,1,3:CLS

LOCATE 3, 30 PRINT“INPUT K VALUES HERE":
REM **'CALCULATION OF RA***

PRINT TAB(5)"PLEASE SPECIFY TREATMENT OF MATERIAL"
PRINT TAB{10) "1. POLISHED

PRINT TAB(10)"2. GROUND"

PRINT TAB(10)"3. COLD DRAWN"

PRINT TAB(10)"4. AS FORGED"

PRINT TAB(lO)"5 HOT ROLLED"

INPUT T
IF KA 1
IF KA=
IF KA= 7.492E-06*X 2-3.314353E-03*X+1.001635
IF T=4 KA= 7.075E~06*X"2-3.917071E-03*X+.7398228
IF T=5 KA= 1.0316E-05*X"2-5.167672E-03*X
+.970257334

PRINT

-893

IF T<1 OR T>5 THEN KA=1
REM ***CALCULATION OF KB***
DIA=DTEMP
IF DIA <=.3 THEN KB=1
IF DIA <=10 THEN KB=.869*DIA"-.097
REM ***CALCULATION OF KC***
PRINT TAB(S5)"PLEASE ENTER THE RELIABILITY
FACTOR OF THE SPECIMER."

PRINT TAB(10Q)"THE VALUE SHOULD BE

BETWEEN 0.50 AND 0.3999999999."
INPUT "
IF REL >=
IF REL >=
IF REL >=
IF REL >=
1IF REL >=
IF REL >=
IF REL >=
IF REL >=
IF REL >=

";REL
.5 AND REL<.9 THEN KC =
.9 AND REL<.95 THEN KC =
.95 AND REL<.99 THEN KC =
.99 AND REL<.999 THEN KC = .814
.999 AND REL<.9999 THEN KC = .753
.9999 AND REL<.99999 THEN KC = .702
.99999 AND REL<.999999 THEN KC = .659
.999999 AND REL<.9999999 THEN KC = .62
.9999999 AND REL<.99999999% THEN KC = .584
IF REL >= .999999994 AND REL<.999999999# THEN KC=.551
IF REL>=.9999999994% AND REL<.99999999994 THEN KC=.52
REM ***CALCULATION OF KD***
PRINT TAB(5)"ARE THERE TEMPERATURE EFFECTS
ON THE SPECIMEN (Y/N)

1!
.897
.868

INPUT * ";ANSS
IF ANS$="y" OR ANS$="Y" THEN 5470 ELSE 5530
PRINT TAB(5)"WHAT IS THE TEMPERATURE
OF THE SPECIMEN (degrees F}?"
PRINT TAB(10)"THE TEMPERATURE SHOULD BE
LESS THAN 1020 F."
INPUT " " ; TEMP
IF TEMP <= 840 THEN KD = 1
IF TEMP>840 AND TEMP <= 1020 THEN
KD =,1-(.0032*(TEMP-840))
GOTO 5540
KD=1
REM ***CALCULATION OF KE***
PRINT TAB(5) "ARE THERE ANY STRESS CONCENTRATION
FACTORS INVOLVED (Y/N) ?
INPUT " " ; STRESSS
IF STRESS$="Y" OR STRESS$="y" THEN
GOSUB 10000 ELSE KE = 1
RETURN
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**xx FINAL RESULTS ***x
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ULTIMATE STRENGTH = 64 (kpsi)

AgEyTHERE ANY STRESS CONCENTRATION FACTORS INVOLVED (Y/N) 2

SEPRIME = 32 (kpsi)

ENDURANCE STRENGTH 12.70 (kpsi)
A SAFE DIAMETER FOR THIS SHAFT IS AT LEAST 1.4(in)

FOR A FACTOR OF SAFETY OF 2

PRESS ANY KEY TO CONTINUE...
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(1) Shigley, J.E.and Mitchell, “Mechanical
Engineering Design”, McGraw Hill Book
Co.

(2) Youm, Y., “CAD in Mechanical Design”,
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